MIA MIDADE ' MIAMI-DADE COUNTY, FLORIDA
- ' METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Eurotec, Inc.
5511 NW 72" Ave.
Miami, FL 33166

SCOPE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHIJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code
including the High Velocity Hurricane Zone.

DESCRIPTION: ASSA/60mm Bertha Roll-Up Shutter

APPROVAL DOCUMENT: Drawing No. 05-153, titled “ASSA/ 60 mm Bertha Roli-Up”, prepared by Tilteco,
Inc. dated 07/12/05, with last revision on 05/09/06, sheets 1 through 14 of 14 including 1A & 5A bearing the
Miami-Dade County Product Control Approval stamp with the Notice of Acceptance number and approval date
by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved or MDCPCA", unless otherwise noted
herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors

and shall be available for inspection at the job site at the request of the Building Official.

This NOA is an association member of ASSA # 03-0113 and consists of this page, evidence page as well as
approval document mentioned above.

The submitted documentation was reviewed by Candi Font, P.E.

NOA No 05-1116.07
Expiration Date: July 06, 2011
Approval Date: July 06, 2006
Page 1




Eurotec, Inc.

NOTICE OF ACCEPTANCE:  EVIDENCE PAGE

A DRAWING
1. Drawing No. 05-153, titled “ASSA/60 mm Bertha Roll-Up”, Sheets 1 through 14
including 1A of 5A, prepared by Tilteco, Inc., dated 07/12/05, with last revision on
05/09/06, signed and sealed by Walter A.Tillit Jr., PE.

B TEST

1. Test report on Large Missile Impact Test per PA 201, Cyclic Wind Pressure Test per PA
203 and Uniform Static Air Pressure Test per PA 202, of “Series: 60mm; Aluminum Roll
Up Shutter”, prepared by Fenestration Testing Laboratory, Inc., Report No. 2751, dated
08/24/2000, signed and sealed by A. Acevedo, PE.

2. Test report on Large Missile Impact Test per PA 2010of “Aluminum Storm Bar”, prepared
by Fenestration Testing Laboratory, Inc., Report No. 2760, dated 08/31/2000, signed and
sealed by A. Acevedo, PE.

C CALCULATIONS
1. Comparative analysis for slats; storm bars, headers and anchors using rational analysis
dated 09/14/00, pages 1 through 167 of 167, prepared by Tilteco Inc., signed and sealed
by W. A. Tillit Jr., PE. on 04/06/01.

D QUALITY ASSURANCE
1. Building Code Compliance Office.

E MATERIAL CERTIFICATION
1. Tensile Test Report No. 13974.0001, per ASTM B 557, prepared by ATC Associates,
Inc. dated 09/20/00, signed and sealed by S.E. black, PE.

F STATEMENTS

1. Letter of Code Compliance issued by Tilteco, Inc., on 04/04/2001, signed and sealed by
W. Tillit Jr., PE.

2. No-financial interest letter issued by Tilteco, Inc., on 04/04/2001, signed and sealed by
W. Tillit Jr., PE.

3. Test compliance letter issued by Fenestration Testing Laboratory, Inc. on 04/30/2001,
signed and sealed by A. Acevedo, PE.

4. Relinquishing test letter issued by Weather Guard, Inc. on 04/06/2001, signed by D. D.
Thomas.

5. Advise of purchase letter issued by American Shutter Systems Association, Inc, on

04/09/2001, signed by W. Fecley.
Manufacturer’s letter issued by Eurotec on 10/17/05 and signed by F. Castro.
7. Component release letter issued by ASSA Inc. on 06/03/05 and signed by L. Santana.

I

_ o7/oc s
Candido F. Fon(, P.E.

Senior Product Control Examiner

NOA No 05-1116.07

Expiration Date: July 06, 2011

Approval Date: July 06, 2006




GENERAL NOTES:

1. ASSA/60mm BERTHA ROLL—UP SHOWN ON THIS PRODUCT APPROVAL DOCUMENT HAS BEEN VERIFIED FOR CODE
COMPLIANCE IN ACCORDANCE WITH THE 2004 EDITION OF THE FLORIDA BUILDING CODE.

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1620 OF THE ABOVE MENTIONED CODE. IN ORDER
TO VERIFY THAT COMPONENTS AND ANCHORS ON THIS P.A.D. AS TESTED WERE NOT OVER STRESSED, A 33%
INCREASE IN ALLOWABLE STRESS FOR WIND LOADS WAS NOT USED IN THEIR ANALYSIS. A DURATION FACTOR
CD=1.60 WAS USED FOR VERIFICATION OF FASTENERS IN WOOD.

ASSA/60mm BERTHA ROLL—UP ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN
ACCORDANCE WITH SECTION 1606.1.4 OF THE ABOVE MENTIONED CODE AS PER FENESTRATION TESTING LAB.

REPORTS # 2751 & 2760 AS PER TAS-201, TAS-202 & TAS—203 PRTOCOLS.
2. ALL ALUMINUM EXTRUSIONS SHALL BE 6063—T6 ALLOY (UNLESS OTHERWISE NOTED).

3. ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 SERIES W/50 ksi YIELD STRENGTH AND 90 ksi TENSILE
STRENGTH OR CORROSION RESISTANT COATED CARBON STEEL AS PER DIN 50018. ALL S.M.S. ARE TEK SCREWS
MANUFACTURED BY ITW—BUILDEX.

4. BOLTS TO BE A.S.T.M.—307, GALVANIZED OR AISI 304 SERIES STAINLESS STEEL WITH 36 ksi MINIMUM YIELD
STRENGTH.

5. STORM BARS AT FLOOR OR CEILING MOUNTING INSTALLATIONS MAY BE REMOVABLE AT NON HURRICANE
CONDITIONS. HOWEVER, EACH STORM BAR SHALL BEAR A PERMANENT [ABEL IN A VISIBLE PLACE WITH A WARNING
NOTE INSTRUCTING THE TENANT OR OWNER THAT STORM BARS MUST BE INSTALLED WITH CORRESPONDING
HARDWARE DURING PERIODS OF HURRICANE WARNING AND THAT ROLL UP SHUTTERS WILL NOT OFFER HURRICANE
PROTECTION UNLESS ALL STORM BARS ARE INSTALLED AS DIRECTED.

6. REMOVABLE STORM BARS SHALL BE STORED IN A CONSPICUOUS PLACE WITH EASY AND IMMEDIATE ACCESS SO
THAT THEY CAN BE REACHED AND INSTALLED ANY TIME (HURRICANE CONDITIONS OR NOT) SLATS ARE ROLLED -

DOWN. THE EFFECT OF THE SLATS ROLLED DOWN WITHOUT STORM BARS IS; THOSE SLATS WILL SLIP OUT OF
TRACK DUE TO THE DEFLECTION CAUSED BY WIND FORCES. ‘
7. ANCHORS TO WALL FOR SIDE RAILS & BOX CONNECTION SHALL BE AS FOLLOWS: (UNLESS OTHERWISE NOTED)
(A) TO EXISTING POURED CONCRETE (f'e= 3320 psi Min.):
—1/4" 9 TAPCON ANCHORS AS MANUFACTURED BY ELCO TEXTRON.
NOTES:

A.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTO POURED CONCRETE SHALL BE 1 3/4".
NO EMBEDMENT INTO STUCCO SHALL BE CONSIDERED AS PART OF THE REQUIRED EMBEDMENT.

A.2) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE
EXISTING WALL OR FLOOR, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE

BEHIND SUCH PANELS.

(B) TO EXISTING CONCRETE BLOCK WALL:
—~1/4" @ TAPCON ANCHORS, AS MANUFACTURED BY ELCO TEXTRON.

NOTES:
B.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS, INTO THE CONCRETE BLOCK UNIT SHALL BE 1 1/4"

B.2) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE
- EXISTING WALL OR FLOOR, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE
BEHIND SUCH PANELS.

(C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE
ANCHOR'’S MANUFACTURER.

(D) ANCHORS REQUIRED FOR STORM BARS, HEADERS & MULLION CONNECTIONS TO CONCRETE f'e=3 ksi Min.
SHALL BE AS SPECIFIED ON APPLICABLE SECTIONS SHOWN ON SHEET 5, 54, 6, & 7 OF 14 RESPECTIVELY.
POWER BOLTS & CALK—IN ANCHORS TO BE AS MANUFACTURED BY POWERS FASTENERS, INC.

1/4” @ TAPCON ANCHORS, AS MANUFACTURED BY ELCO TEXTRON. :
MINIMUM EDGE DISTANCE AND SPACING FOR ABOVE MENTIONED ANCHORS SHALL BE AS
INDICATED BELOW OR AT ABOVE MENTIONED SHEET, WHICHEVER IS LARGER (MORE CRITICAL).

1

8. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE
STRUCTURE WHERE SHUTTER IS TO BE ATTACHED TO INSURE PROPER ANCHORAGE.

SHUTTER MANUFACTURER'S STAMP LABEL BE PLACED ON THE EXPOSED SURFACE OF THE SIDE RAIL
APPROXIMATELY 4" ABOVE THE BOTTOM OF SUCH RAIL. LABEL SHALL READ AS FOLLOWS:

EUROTEC, INC.
MIAMI, FL.
MIAMI-DADE COUNTY PRODUCT CONTROL APPROVED.

10. ROLL—UP MECHANISM NOT PART OF THIS APPROVAL, BUT SHALL BE CERTIFIED BY AN INDEPENDENT
TESTING AGENCY.

1. (A) THIS (P.A.D.) PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE INFORMATION
FOR A SITE SPECIFIC PROJECT; i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.A.D.

(B) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING
LIFE SAFETY OF THIS PRODUCT, BASED ON THIS PRODUCT P.A.D. PROVIDED HE/SHE DOES NOT DEVIATE
FROM THE CONDITIONS DETAILED ON THIS DOCUMENT. CONSTRUCTION SAFETY AT SITE IS THE CONTRACTOR'S
RESPONSIBILITY.

(C) THIS PRODUCT APPROVAL DOCUMENT WILL BE CONSIDERED INVALID IF ALTERED BY ANY MEANS.

(D) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT
WHICH WILL BECOME THE ENGINEER OF RECORD (E.O.R) FOR THE PROJECT AND WHO WILL BE
RESPONSIBLE FOR THE PROPER USE OF THE P.A.D.

(E) THIS P.A.D. SHALL COMPLY WITH SECTION 2: 61G15 OF THE FLORIDA ADMINISTRATIVE CODE.

9.

12. ONCE ALL COMPONENTS HAVE BEEN CHOSEN, CHECK FOR COMPLIANCE WITH SECTION 1613.1.9 OF THE
FLORIDA BUILDING CODE 2004.

L

F.B.C. (High Velocity Hurricane Zone)

EMBEDMENT DRAWN BY:
ANCHOR SPACING EDGE DISTANCE CONCRETE CONCRETE BLOCK | ASSA/60mm BERTHA ROLL-UP W.CV LG
3/8"0 POWER BOLT 3 3/4" 4 1/2" 2 1/2" (2000 psi) 1 1/2”
1/4"8 CALK—IN 2 1/2" 3" 7/8” (3000 psi) 7/8” EUROTEC, INC. e
3/8° CALK-IN 3 3/ 4 1/2" 1 1/4” (3000 psi) B T e ILIEC O inc. T e 42T
/40 TAPCON 3, 2 172" 13747 (3000 psi) rasel S — TILLIT TESTING & ENGINEERING COMPANY PHONE:(305)630--1855, FAXI(305)636~1853 05-153
1/2"¢ POWER BOLT 5 6 2 1/2 ( 2000 pSI) 1 1/2 “7 LS OoS 6355 Nbl'v'.m.!‘st'ﬁ.(ﬁ);;;ﬁg;éﬁfgf?magﬁ% S, 5168 __ - e - DRAWING No
N omos L g 4167 e SHEET 1 OF 14




MAXIMUM HEADER SPAN (SEE SCHEDULE)

DD RO
/

w-3

pv /—®or®
/

J
2

7 ; -
; % Z \\V[[ / i
; 4 A 7 —5- 5 5 5 7 3
7 =i == 2
7 V, | G S — — | & S —— g
7 (Tvp.) — 7 ¥
7 7 Z 2R
4 7—-—# V———(/ b4 4 ?——'—————v——_:——v——v——_:——v—————v——ﬁgﬁ
P 4 2 -] % P P é 2] ) 5 5 5 2] % P \;‘
z | cogo— .
7 / @ (Tve.) A= 0 &
4 / = o
; | —0000—— s n
4 —— Z (Typ. Ea. END) 7 5= —=—11 7 Z
7 ¥ 7 . — 3
7 e 7 7 7 7 3
2 — L 2 @ @ % A - Z g
Z Z % A= 7 72

Max. SLAT SPAN (SEE SCHEDULE) pv } A@AP‘;'!ZE%LE
Max. SLAT SPAN (SEE SCHEDULE)— .|  Max. STORM BAR SPACING (SEE SCHEDULE) |
TYPICAL SINGLE UNIT ELEVATION (NO STORM BARS REQUIRED TYPICAL MULTIPLE ELEVATION (STORM BARS IRED,
NOTE: SEE SHEET 2 & 3 OF 14 FOR COMPONENTS NOMENCLATURE. NOTE: SEE SHEET 2 & 3 UF 14 FOR COMPONENTS NOMENCLATURE.
—~| Max. MULLION SPACING ‘—— Max. HEADER SPAN & R @
Max. MULLION SPACING (SEE SCHEDULE)

jl/? Y /@Of @ | /L . /—@ @n&@m@

@\/// L Ll LSS SIS AL SIS S S RIS SIS S S A S SIS
N ; ! o/

N NoYoRtc /@0F®
9 I A | o
® © » O =
§ OR @ 7 g §,
ly 5 5 5 =5 3
\bi - —— (Tve.) n bt [ —— ] i ; S
A== 8z
i 0 g . . . . 2 g

- — — - z
3 ‘T—TL —~———~2_ 00 ®xE . = - . - 2« S
3 i Al T = = L < & 3
: | —— (ip) & e H— — | 3 :
P | : DOO D=——l= : i=aii=liS
3 - e (Typ. Ea. END) — H— = 3 3
L - ! @ @ \\ 5 — ~— § \
Z \ | na
A1) EENNNANARRNNARR R ANR RN NRARANNNNNNNNNNNNNNN \\\?X\V »X\\V .\\\\\\‘T;\ N NN ANNNNNNFSNNNNNNAN SO } @
B | w1 Max. SLAT SPAN (SEE SCHEDULE) -2 I APPLICABLE
Max. SLAT SPAN Max. STORM BAR SPACING (SEE SCHEDULE)Y .
(SEE SCHEDULE) - '
IYPICAL CONSECUTIVE SINGLE UNIT ELEVATION (NO STORM BARS REQUIRED) TYPICAL CONSECUTIVE MULTIPLE UNIT ELEVATION (STORM BARS REQUIRED) F.B.C. (High Velocity Hurricane Zone)

NOTE: SEE SHEET 2 & 3 OF 14 FOR COMPONENTS NOMENCLATURE. NOTE: SEE SHEET 2 & 3 OF i4 FOR COMPONENTS NOMENCLATURE.

ASSA/60mm BERTHA ROLL-UP ORAWN B

WHEN dodV.
/APPLICABLE
| _4 EUROTEC, INC. iz
NOTE: : e 7 ILIEC O x (ASSA MEMBER § 277) Tl
Frrony Se—a—t ’ e
- e ~— - TILLIT TESTING & ENGINEERING COMPANY L FL. _
> // e TG R M PHONE:(305)885-6553, FAX:(305)885—6554 05-153
S TUS Flefe 1 (04871-18% . ror £ (55e71~13 — T A ——{  DRAWING No
WALTER A, TLLT Jr., P. E. : 3
FLORIDA Lic. # 44167 2 - SHEET 1A OF 14




—‘E_‘I—:b——l .e"n
L} I L L]
{ dr=
W .
050 . ;‘ ,
» g N —.045
315" I R ®
N N
N
t jgal
H IT
340450
—~{.604" |~

(A) TYPE 1 SLAT:

EXTRUDED ALUMINUM

SLAT
6063~T6 ALUMINUM ALLOY
SCALE: 1/2% = 1*

TYPE 2 SLAT:

EXTRUDED ALUMINUM

BOTTOM SLAT
6063~T6 ALUMINUM ALLOY
SCALE: 1/2" = 1"

l 2,000 -2,.000" |

3/8"-16x4 1/2" S.5.

CAP SCREWS W/NUT 2.000"

2.000"

1/4"

TYPE 1 STORM BAR:
2" EXTRUDED STORM BAR

6063-T6 ALUMINUM ALLOY
SCALE: 1/2" = 1”

@ 24" 0.C. STARTING
/AT 10" FROM TOP AND
BOTTOM OF STORM BAR.

1/8"

2.000"

3.000"

2.000" |

2.000" |

4.000"

TYPE 2 STORM BAR:

1/8"

1/8"

4.000™

1/4*
P,

3" EXTRUDED STORM BAR

6063~T6 ALUMINUM ALLOY
SCALE: 1/2" = 1"

1/4°
TYP.

/4% %
TP,

2.000

4.000"
1/8"

2.000"

!
]

HEADER TYPE

TYPE 5 STORM BAR:

4" HEAVY EXTRUDED STORM BAR
6063-T6 ALUMINUM ALLOY
SCALE: 1/2" = 1*

2.297" 2.297*
124t 1757 1,124 1,173
N 0627 (267" 300"~ .062" N .0'522€'7i 306"~  1062"
ey cidipern | e W T e G
' . 3] 2 37 1 - =l
e i e B e ] P e ]
'*- 354”1 -} 354" | 4§ 5 g e s g % 3 §
1 e I e SR = S LB ER
e JT 1 iT s R 8 %
) ! :{ f 1 = \ 150° = = \.150"7
' ' TYPE 4
SIDE RAIL:
TYP E ’ TYP E 2 TYPE 3 6063—-T6 Alum. ALLOY /_—- B C ( H h V / . t H . Z )
SIDE RAIL: SIDE RAILS: SIDE RAIL: SCALE: 1/2" = 1* o 'g elocily Hurricane Zone
6063-T6 Alum. ALLOY 6063—T6 Alum. ALLOY 6063~16 Alum. ALLOY DRAWN BY:
SCALE: 1/2" = 1* SCALE: 1/2" = 1* SCALE: 1/2" = 1 ASSA/60mm BERTHA ROLL—UP SV,
# \ E' UROTEC' INC. 7/[;52?5
7
i ILIEC O, e
;“/ Aﬁ;“b & ;;’;’-L}}ﬁi;;g}; é:f?mﬁiga’gg}}:‘:gf ANT. PHONE:(305)885-6553, FAX:(305)885~6554 3:;”25&3
) S /.ng e E;—aaa's;;s: - REV. Mo DESCRIPTION DATE | REV. No DESCRIPTION DATE o
a4 Gt TN = : sz o o

6063—-T6 ALUMINUM ALLOY
SCALE: 1/2" = 1”

(H) HEADER TYPE 2:

6063-T6 ALUMINUM ALLOY
SCALE: 1/2" = 1"

IYPE 3 STORM BAR: (F) TYPE 4 STORM BAR:

4" EXTRUDED STORM BAR
6063-T6 ALUMINUM ALLOY
SCALE: 1/2" = 1"

4,000"

4” HEAVY EXTRUDED STORM BAR
6063-T6 ALUMINUM ALLOY
SCALE: 1/2" = 1"

8.000"

1/4"
P

2.000™

1/8"
fe| |

2.000"

HEADER TYPE 3:

6063—T6 ALUMINUM ALLOY
SCALE: 1/2" = 1"

(J) HEADER TYPE 4:

6063-T6 ALUMINUM ALLOY
SCALE: 1/2" = 1"




3.000"

4.000"

®@rE

4.000"
4.000"

—= —1/8"

. 1/4"
YR,

6.000"

TYPE 1 MULLION:

4” EXTRUDED MULLION
6063~T6 ALUMINUM ALLOY
SCALE: 1/2" =

(2) CONCRETE ANCHORS SPACED
" 0.C. VERTICALLY W/ 3/4"
EDGE DISTANCE TOF & BOTTOM,

/4235%22222%%222’7%;22237 post/e” sus— |

® Galv. STEEL ———
SIDE BRACKET |
@ Galv. STEEL DRUM

< ) Aus

BALL BEARING ASSEMBLY

® SHUTTER COVER \

#rox1/2* sms”
@ 4" oc.

BRACKET DETAIL {

=

l——2.75'—-|

SIDE

END
W) DRUM sous 16 - 1

j~—1.000"

(Z) SHUTTER SIDE COVER

TYPE 2 MULLION:

4” EXTRUDED MULLION
6063-T6 ALUMINUM ALLOY
SCALE: 1/2" = 1"

@ 4" O.C

#10x1 /2" S.M.S._\

Q|

S

(D 14x1” SM.S.
Ea. BRACKET

-

1/4"__|
TYP.

@ Galv. STEEL DRUM

' B —

Galv. STEEL —
SIDE. BRACKET

@

olok

(D 14x1* S.MS,

7~

®\EL

B

® Galv, STEEL ——
SIDE BRACKET |

-

e

TYPE 3 MULLION:
6" EXTRUDED MULLION

5063—-T6 ALUMINUM ALLOY

VARIES

SCALE: 1/2" = 1"

o 6° O.C.
N
AN

—@

FOR CASES
W/OUT HEADER

#10x1/2" S.M.S.
@ 6" o.c.

/

(Y) WALL HOUSING

SCALE: 3/16" = 1*
3105-H14 ALUMINUM ALLOY
THICKNESS: .032"

SCALE: 3/16" = 1”

FOR CASES
W/ HEADER
ya

i

PLAN

VARIES

OPTIONAL

SHUTTER COVER \

BALL BEARING ASSEMBLY

| A
#10x1/2" SMS™
@ 4" o.C.

BALL BEARING ASSEMBLY

® SHUTTER COVER\

A A

L———@ Galv. STEEL
'_| SIDE BRACKET

#10x1/2" SMS.

Ea. BRACKET
\ @ 4” 0.C.
Eggl M[j£>
IR T‘ _ %

!
@ Galv. STEEL DRUM |

|
@ Galv. STEEL DRUM B |'r”
= [ —
Qo ----1
A
i ‘W TN
|

BALL BEARING ASSEMBLY

ﬂ SHUTTER COVER

BRACKET DETAIL 1A

A

VARIES

FOR CASES
\ W/ HEADER

(@ WALL HOUSING

- SCALE: 3/16° = 1"
/ 3105-H14 ALUMINUM ALLOY

THICKNESS: .032°

FOR CASES
W/0UT HEADER

/\ #10x1/2" SM.S.
N M@ 6" 0.C.
_/ ]

#10x1/2" S.M.S.
@ 4" o.c

| i
T #10x1 /2" SMS.
P

0.C.

BRACKET DETAIL 2

i 5.500" |

|——3.500' ——I

ELEVATION

END BRACKET SYSTEM

1010 ELITE ROLLED STEEL F, E.
P, O. 1 Z 200 DESIGNATION
Flu= 410 NW/MM2. & OF STRETCH
MINIMAL ON TEST. BAR OF 80 MM: 24 X
G—90 GALVANIZED COATING Thk.: .060"

* SEE NOTE 10 ON SHEET 1 OF 14

(X) SIDE BRACKET scuc: 174" - 1°

F.B.C. (High Velocity Hurricane Zone)

DRAWN BY:

ASSA/60mm BERTHA ROLL—-UP v,

1010 ELNTE ROLLED STEEL F. E. 3105~-H14 ALUMINUM ALLOY
P. 0. 1 Z 200 DESIGNATIO, THICKNESS: 032" EUROTEC, INC. 7/12/05
IGNATION ;.03 ’ fiyids
Ftu= 410 NW/MMZ. X OF STRETCH ILIEC O nc. (ASSA MEMBER ¢ 277)
MINIMAL ON TEST. BAR OF 80 MM: 24 % T, L 53188
G—90 GALVANIZED COATING Thk.: .060" > oLLIT TESTING & (ENGINEERING COMPANT PHONE:(305)885—6553, FAX:(305)885—6554 05-153
Phona : (305)871-1530 . Fax : (305)871-1531 DRAWING No
EB-0006719 REY. No DESCRIPTION DATE REV. Neo DESCRIPTION nATE
WALTER A. TILLIT Jr., P, E. 1 3
FLORIDA Lic. # 44167 2 1 SHEET 3 OF 14




TAPCON
ANCHORS
{SEE SCHEDULE ON

POURED CONCRETE OR
CONCRETE BLOCK

REQUIRED

AN/

THIS SHEET) _\\_L

E D.

/.

7

LT
Oy B

e

@

2

g

1/

Max.

TROO~@

SECTION P - P (1) : WALL MOUNT

SCALE: 1/2" =

1"

SIDE_RAIL ANCHOR SCHEDULE

TAPCON
ANCHORS

(SEE SCHEDULE ON

THIS SHEET) _\

POURED
CONCi

RETE OR .
CONCRETE BLOCK 4

REQUIRED ——\

_..] l__.l/4' Max,

w
»
e

l

a.

#14x3/4"° SMS.
o 6"

® © O
\

2%2"%x1/8" Cont. Alum. ANGLE
W/ #14x3/4" SM.5. €@ 6" O.C
TQ SIDE RAIL

SECTION P — P (2) : SIDE WALL MOUNT

SCALE: 1/2" = 1*

a.C. \

ANCHORS !

(SEtE

THIS SHEET) —\

7

POURED CONCRETE OR
CONCRETE BLOCK
TAPCON REQUIRED

SCHEDULE ON

1.500"

1.500"—

1"%3%1/8", 2'x3'%1/8",

I%3%1 /8" OR 3%4"x1/8"
| /— CONT. BUILD—OUT TUBE.

AR

E¢EQ——<—EQ—>

/

(2)#14x3/4°
S.M.5. @ & o.C.

®EOO

2

e

Max.

" TRO0=@

ol

[ =

Nt rem

SECTION P — P (3) : BUILD-OUT MOUNT

‘ e -
D:I} -1 OR W-2

SCALE: 1/2" = SECTION R — R : MULLION MOUNT
MAXIMUM_DESIGN PRESSURE RATING "W" (p. s. f.) AND (FACE' MOUNT)
CORRESPONDING MAXIMUM ANCHOR SPACING(in) * FOR
SIDE RAILS ® , &) , © & (M) CONNECTION TO POURED CONCRETE
OR MASONRY WALL.
(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD)
wAXIUU SIDE RAIL K) SIDE RAIL &) SIDE RAIL D) SIDE RAIL () MASONRY \C:'R) @C;)
LOAD
W pst) [ wonr | tiste T o | s wour | BSEE | BUEOUT | wounr | st | SRV | wa woun | g | P boURED CONGRETE
5» 4n 6.u 6" 4u 6" 6.1: 511 6" 6" 5n 6” 1 £145{'Jéfci S.M.S.
80 OR LESS SUBSIRATE LEGEND
6” 6" 6" 6” 6" 6" 6" 6” 6" 6" 6" 6" ‘/
3 1/2" 2 1/2" 5" 312" | 2 102" 5 1/2" 5" 3 1/2* 6" 5" 3 1/2" 6" :
>80 TO 150
6" 6" 6" 6" 6" 6” 6" 6” 6" 6" 6"
3" 2 1/2" 5" 3" 2 1/2*° 5" 4" 3" 6" 4" 3* 6"
>150 10 195
' 6" 5 1/2" 6" 6" 6" 6 6” 6 6" 6" 6" D} ~ ®@© OR@
R ot ok 12
. MAXINU , D N i — “A(@@ SECTION @ — Q : MULLION MOUNT
= . 2 (FACE MOUNT)
VERSUS E =E D 1 I 3 == SCALE: 1/2" = 1”
MAXIMUM SIDE RAILS ANCHOR SPACING ARE VALID FOR / E;_ :Eg_ EL Ja E; irQ \ \@
3 1/2” EDGE DISTANCE. FOR E. D. LESS THAN 3 1/2" L
REDUCE ANCHOR SPACING BY MULTIPLYING SPACING 2%2%1,/8" Cont, H 2%2%1,/8" Cont.
SHOWN ON SCHEDULE BY THE FOLLOWING FACTORS ALUMINUM ANGLE ALUMINGM ANGLE
(REDUCED SPACING OBTAINED USING FACTORS SHALL 5 o __-—{/\D@ =
NOT BE LESS THAN 3%: po sus il ] o (P) F.B.C. (High Velocity Hurricane Zone)
ACTUAL E. D. FACTOR ASSA/60mm BERTHA ROLL—-UP oA o
3 86 SECTION R — R : MULLION MGUNT (INSiDE MOUNT)
SCALE: 1/2" = 1" EUROTEC' INC. 7/12/05
2 2" .78 liLTEC O ne. Ussh, MeUBEE £ 27)
2 50 gﬁ:ﬁ:‘\& 5950 o S St 308 o Bl . X108 PHONE(305)865- 6555, FAX:(305)885-6554 05-153
) > Phane : (305)571 1_550 Fax ! (305)671—15.!1 e SeserrTon o Ty proTr— rrey DRAWING No
/ ﬂ/ &S WALTEREi. ?'IOL?JE;‘,/?, P, E 1 = 3 SHEET 4 OF 14
FLORIDA Lic. # 44167 2z 4




POURED CONCRETE

CONCRETE ANCHORS © 6" 0. C.

/

CONCRETE ANCHORS @ 12" 0. C.

1 1/2%1 1/2%1/8"

0

REQUIRED
/ T
11
il
1
” QOO
I
Ji T
i I |
I |
I I {
i [ i
f I |
I I 1
i [ i
fi I |
i f i
i I {
o, | |
t—2 (MIN}-——: i
f
1i | |
I I |
i | |
i I ]
i I i
I} ! {
E EXISZNG/JH i
GLAS. I |
§ I s st
N ! (| b
]
N i P—
s i : i
& 1 |
N ! P
Q
g i I |
i I /
g i | |
N i SEPARATION |
i 10 GLASS |
g | SEE SCHEDULE |
i ON SHEET 9 OF 14 |
3 ] | [
[3] il | [
& ( . /\/ I
=
3
3 m

!
s

e e e e e T T

7 S

N OPTIOML

|
ON SHEET 9 OF 14 |
|
{

. T®e

H

O x®

2% (MIN)—]

REQUIRED

POURED CONCRETE _/

3" Min.

4.5" Min.
/

(BEYOND)

AND, (2)3/8“# THRU BOLTS

FOR STORM BARS (E)&

2"x4"1/4" (FOR TYPE 3 & 4 STORM
BARS), 2*x3%1/4" (FOR TYPE 1 & 2
STORM BARS) Alum. ANGLE EA, SIDE x
0'—6" HIGH W/ (2)3/8"ex2 1/4" POWER

‘I_

®

Mg STy e

POQURED CONCRETE—/
OR CONCRETE BLOCK WALL
REQUIRED UP TO 130 psf
DESIGN LOAD. POURED
CONCRETE REQ'D. FOR

GREATER DESIGN LOADS. .

FOR TAPCON ANCHORS
FOR CALK—IN ANCHORS

g -t

OR POWER BOLTS ANCHORS

( SEE SECTION ‘S® FOR ANCHOR TYPE REGUIREMENT)

SCALE @ N.T.S.

SINGLE SPAN SECTIONS AND DETAILS
ARE SIMILAR TO ABOVE SHOWN WITHOUT
STORM BAR & HEADERS.

SCALE : N.T.S.

BOLTS TQ WALL.

FOR STORM BARS

CO@R&T E,

1 1/2%1 1/2°%1/8%0'-4 3/4"

~ x STOPM 8AR DEPTH /— INSTALLATIONS INT( LT ALUMINUM ANGLE W/ (2)3/8"@
N ~3/4"~~3/4"=  Aum. ANGLE EA. USE (2)1/4"8 TAPCON ANCHORS ‘ POWER BOLTS W/ 3 1/2° Min.
AN \ SIDE EA. SIDE FOR DESIGN LOADS UP TO % EMBEDMENT EACH SIDE.
o N N 80 PSF., 54" MAX. SLAT SPAN & »
e >~ 3 % 7 90" MAX. STORM BAR SPAN & 0 O
P \ N (2)3/8"#x3" POWER BOLTS EA,
POURED CONCRETE: / \ 5] ety 3_6_ SIDE FOR GREATER LOADS AND
I REQUIRED \ u N/ SPAN CONDITIONS. 3
! | A0 FOR INSTALLATIONS INTO HEADERS & /@ @ @
/ l L USE (3)#14x3/4" S.M.S. EA. SIDE. N X
/ g N —e / @
/ 1 N
\® ’ A T 3 Y ™_ror STORM BARS @ Y O
// S ) = INSTALLATIONS INTO™ CONCRETE, g i 5]
’ v g USE (1)3/8"8x3" POWER BOLTS o 8
P g‘%’f’;’gﬁ/ oS et \-@ @ EA. SIDE AT CENTER OF ANGLE. § Rty
) ] 2 D AND, (3)f14x3/4" FOR INSTALLATIONS INTO HEADERS N &
} FOR CASES g“s FACH SIDE FOR @ @ USE (2)§14X3/4* SMS. EA. SIDE. ¥4 M 553
FOR CASES 1000 W/OUT HEADESTORM BARS%) 1
W/our HEADER | ) \ L(2)f14x3/4" sus EAC SIDE
: r - N ’;'gGE OF  ror sTorM BARS(C) AND,
| ! @ SCALE ¢ 1/2" = 1" = L (3)f14x3/4" SM.S, eAck, sioe
} } i w. o  FOR STORM BARS(®)& FOR STORM BARS
a)—] i @ @ ! g/Tg 1 31;4/;55%%-/ INSTALLATIONS INTO CONCRETE, USE -
~—2" (MIN)—~ OR 34" 34" (2)1/4"9x7/8" CALK—IN * EA, SIDE
I I » ”
I I um. ANGLE A, FOR' DESIGN LOADS UP TO 80 PSF., SCALE : 1/4" = 1
I | 54 MAX. SLAT SPAN & 90" MAX. YA =18 WACHIN
: ‘\{ _\ STORM BAR SPAN, & (2)3/8ex1 1/4" %}E”WSZ%SZ_’; 54315),1”, /M 1 /IZ/.. :; 7/8"
s2 , s2| @ Y - 7/ CALK—INS * EA. SIDE FOR GREATER . "
| i i o ™ AN DESIGN LOADS AND SPAN CONDITIONS. OR 3/8°#x1 1/4" CALK—IN ANCHORS
I I b ND. FOR INSTALLATIONS INTO HEADERS USE RESPECTIVELY SHALL BE LEFT TOGETHER
EXISTING GLASS ——=] i | X KYA (3)#14x3/4" S.MS. EA. SIDE. W/ ANCHORS AT THE TIME STORM BARS
I | P N D ARE REMOVED. (SEE DET. A).
I I . N ~~——FOR STORM BARS ©)&
;0 NT. 5} ~\@ AW N ’ INSTALLATIONS INTO CONCRETE, USE < -\
' b : (1)3/8 ax1 174" CALK-IN *+ EA ' T~ MACHINE SCREW FULLY
SEPARATION I ’ — SIDE AT CENTER OF ANGLE. q e A
TO GIASS wll i (2)1/478-20 M.S. W/ L@ @ FOR INSTALLATIONS INTO HEsoers |+ g | EMBEDDED INTO ANCHOR
SEE SCHEDULE i "\L Foil’? as 7%(%35'4 Rgﬂ évu USE (2)#14x3/4" SM.S. EA. SIDE. z ‘\\i ANCHOR
©® T

SCALE :

|
s st @ (BEYOND)
1
|
i | 2%4%1,/4* (FoR TYPE 3 & 4 STORM BARS)
1o olil or 2%3%1/4" (FOR TYPE 1 & 2 STORM
! | ~BARS) Alum. ANGLE EA. SIDE x 0°—6" HIGH
{ A W/ (2)3/8%x2 1/4* PONER BOLTS TO WALL
i Il & (4)#14x3/4" TO STORM BAR.
1 |
! I
' I
! [
f [
! {
o ol
| I 1

()#14x3/4" S.M.S5.—]
EACH SIDE (Typ.).

N a
NS

SECTION 81 - S1

SCALE : 1/2" = 1*

F.B.C. (High Ve/oaty Hurricane Zone)

1/211 = 111

/TilEC O me. \

TILLIT TESTING & ENGINEERING COMPANY
8255 NW. 36th. St. Ste. 305
(305)871-1530 . Fax :
EB—-00Q06719
WALTER A. TILLIT Jr., P. E
FLORIDA Lic. # 44167 K

Phone :

~ VIRGINIA_GARDENS, FL 33168
(305)671-1531

ASSA/GOmm BERTHA ROLL—UP DR%?’KBY"
EUROTEC, INC. 7/12/05
(ASSA MEMBER § 277) DATE
et
PHONE:(305)885—6553, FAX:(305)885—6554 05—-153
REV. Mo BESCRIPTION DATE REV, No DESCRPTION DATE DRAWING No
: : SHEET 5 OF 14




1 1/2%1 1/2%1/8"%0'-4 1/2*

/ 1. 1/2%1 1/2%1/8% FOR INSTALLATION INTO CONCRETE, 3/4- 34" ALUMINUM ANGLE W/ (2)3/8"#x3"
. CONCRETE ANCHORS @ 12” 0. C. . . STORM BAR DEPTH . ' POWER BOLTS EACH SIDE.
POURED CONCRETE CONCRETE ANCHORS @ 6° 0. C. ~ 44 AR / Alum. ANGLE EA. SIDE UHSE S%)E’/,%,: gg;gﬂ” L’,}ﬁ’gg"{jﬁ 0
REQUIRED N 80 PSF, 54" MAX. SLAT SPAN & 90" \E
/ \ | / MAX. STORM BAR SPAN, & N e O
—— \1 " d / (2)3/8"eX3" POWER BOLTS EACH
| -~ ~ 3 -~ 0 g N SIDE FOR GREATER DESIGN LOADS
i /- \ T —d AND SPAN CONDITIONS. FOR Y
POURED CONCRETE- / \ ) INSTALLATION INTC HEADERS @, @ 8
h un a
i o o REQUIRED \‘ D ) OR (D), USE (3)#14X3/4" S.M.S. EA N S
I U ) 4 ~ SIDE. : A
Il g AN 4 ’ /l L™ oy QO
I i / A ~2" i 5 / Y V¥
I | ¥ \ [ M y N X
I ' | / S \ / . 4 13 nw Fi T
i ! | ) ! . ’ f S
It ! | N/ ] | J g
” ll | // i (2)3/8"¢ . ~
I ! ! \ p — THRU BOLTS l x
~ s 4 = I FDR CASES A
It : ! S s’ : W/OUT HEADER - \ \ "
I ' ¢ | EDGE OF (2) 3/8'9
I | l 7 FOR CASES | ., WALL THRU' BOLTS
r}._'z (Mi)—| { 4,_/ sy W/0OUT HEADER \@ SCALE : 1/2° =
| —
I x \ . .o g SECTION 52 - S2
} . . 1 1/2°%1 1/2°%1/8% FOR INSTALLATION INTO CONCRETE :
i ' { OPTIONAL @ A A STURM BAR DEPTH USE (2)1/4"2x7/8" CALK~IN * SCALE : 1/4" = 1°
h I @ 2" (MIN)}—~ OR Alum. ANGLE EA. SIDE ANCHORS' EA. SIDE FOR DESIGN LOADS
I ' | I [ ' b | UP TO 80 FSF., 54" MAx.s PsALch jPAN
i T Nd & 90" MAX. STORM BAR A
W Ill | ! o o @ OR @ h'% }S (2)3/8%ex1 1/4" CALK—INS * EA.
2 sysTNG 1 { 2 ]—O [ O—{ SIDE FOR UP'TO 160 psf DESIGN LOAD
GLASS 1l | : - ~ AND W/MAX. SLAT SPAN OF 36" AND
8 I T S s N ‘ U ()« 96" Max. STORM BAR SPAN. FOR
3 i o ﬂ" | i EXISTING s ~ ~ STALLATIONS INTO HEADERS ©) @& O
? f — 1 4 e | -JTO | g O_;l . USE (3)f14x3/4" SMS. ER. SIDE.
g h I | — 35 \ NS MACHINE SCREW
g I { AV : \@ | T FULLY EMBEDDED
. I \ [
« i ! f } . (2)3/8%8 THRU BOLTS. NTO ANCHOR
N I i : | SEPARATION TO e @ ANCHOR
3 It { ' { ! ~———GLASS SEE SCHEDULE A
hy I I . 1 | ON SHEET 9 OF 14
G I\ sepapatioN To [ [ " 5 \.® @ -
; FRE QT T——® *
iy I ! Al +\IL @ oR @ SCALE = 1/2" = 1" I3 705" 76 OR 3/6"9~16 WACHINE -
s i { 1 1 , 1 T (BEYOND) SCREWS USED JOINTLY W/ 1/4"8x7/8" | SCALE : 1/2* = 1
& i . 1 . : I i i OR 3/8"@x1 1/4" CALK~IN ANCHORS
3 2° (MIN)— f | RESPECTIVELY SHALL BE LEFT TOGETHER
k4 {
g \/\ @ OR @ 1\l§@ W/ ANCHORS AT THE TIME STORM BARS
3 » " -
E m T T T f | 2% 4% 1/4”" (FOR TYPE 5 STORM ARE REMOVED. (SEE DET. A).
* I | } { ! (BEYOND) f | } BARS) Alum. ANGLE EA, SIDE x 7°
1 | i | ' I HIGH W/ (2)1/2°¢x 2 3/4" POWER
t [ t i I sz 1 | * BOLTS TO WALL & (4)1/4%6 S.S.
h ! || =Rl | J,\} THRU BOLTS TO STORM' BAR. /
- Y T
| ithy i I\® L
H .. 0 I
| ——®®
| | |
" | | Mk@ ) ! T Al T
u R (. T Qo)
ll—2* u)— | EDGE OF
i : : g { i| st (BEYOND) WALL
| MV |/ —®) \a
. | R4
i < | gl g il s i
I ! gl ' POURED CONCRETE '
It OR CONCRETE BLOCK WALL I/ 2% 4" 1/4" (FOR TYPE 5 STORM BARS) (4)1/4"8 S5
i REQUIRED UP TO 170 psf LIt Alum. ANGLE EA. SIDE x 0'~7" HIGH W/ ol o
i o o0 © 0 @ ggilgg E_ﬁgAﬁgéoegu?gg g (2)1/2"0x 2 3/4" POWER BOLTS TO WALL i
I—u—-l CONCRETE REQD. ! & 5{4)1/4 # S.5. THRU BOLTS TO STORM A8
5 F
|
v |
3" Min. FOR TAPCON ANCHORS } SECTION S1 - S1
/ 4.5* Min. FOR CALK—IN ANCHORS t SCALE : 172" = 17
POURED CONCRETE OR POWER BOLTS ANCHORS I F.B.C. (ngh Ve/ocrty Hurricane ZO/'?G)
1]
DRAWN BY:
ASSA/60mm BERTHA ROLL—UP n
4 — -
d —
EUROTEC, INC. 1305
STORM BARS W/CONCRETE ANCHORS ILIEC O ¢ O N 7ond
. 5511 NW 72n
( SEE SELTION 'S” FOR ANCHOR TYPE REQUAREMENT) MAMI, FL. 33166
SCALE : N.TS. SCALE : N.T.S. Domete T TG X sea \CINEERING COMPANY. PHONE:(305)865-6553, FAX:(305)865—6554 05-153
SECT ON V — z " - Phore : (J08)871-1830 . Fax : (3058711531 DRAWING No
SINGLE SPAN SECTIONS AND DETAILS _L > ) )2 " EE—0006719 REV. Na DESCRIPRION arE | Rev. Mo DESCRIFTION 2ATE
ARE SIMILAR TO ABOVE SHOWN WITHOUT LSS / L2 WALTER A, TILLIT Jr. P. E ; ] SHEET 54 OF 14
STORM BAR & HEADERS. ' FLORIDA Lic. # 44167 2 7]




3'%37(Max.)x1,/8" Cont. Alum. TUBE W/ . . 3%4"(Min.)x1/8" Cont. Alum. TUBE W/ . . '"3/ 4 T-’/ Ll
2%2"%1/8%0'-3" (Max.) ALUMINUM \ #14x3/4° SM.S. € 12" 0.C. TO TUBE 2%2%1/8"%0~4"(Min,)  ALUMINUM \ #14x3/4" SM.5. @ 12" 0.C. TO TUBE A .
ANGLE TO BUILD—OUT TUBE W/ ANGLE TO BUILD—OUT TUBE w/ | N a FOR INSTALLATIONS INTO TUBE &
(3IF14x3/4" SMS. EA, LEG & = (3)#14x3/4" SM.S. EA, LEG & || TN [~ —HEADERS ©), (D, (DOR(J), USE
CONCRETE ANCHORS @ 12" 0.C. FULL CONCRETE ANCHORS @ 12 O.C. FULL —() E%mwﬂ" (2)#14x3/4° SM.S. EA. SIDE FOR
LENGTH TO POURED CONCRETE - i pet LENGTH TO POURED CONCRETE W_ e . T. DESIGN LOADS UP TO B0.0 pst &
| : N8 Fersseuny (3)#14x3/4" SM.S. EA. SIDE FOR
N N O i ”.3 O GREATER DESIGN LOADS.
POURED CONCRETE g é g oD ¢ g g 0O EZ‘L‘W:ER@\
REQUIRED \ | l . \® REQUIRED — _ e \ N RS \@ @ @or@
& <
§ \ § '
A ! c o o0 / . . ! . N (2)f14x3/4” S.M.S. FOR DESIGN
M FOR GASES b N &
l = L W/OUT HEADER s3 \® L& L0AD UP TO B0.0 p.sf. &
| i /J = (3)#14x3/4" SM.S. FOR DESIGN
/ // ] | FOR CASES LOAD GREATER THAN 80.0 p.s.t.
l A w/our Heaper 1 1/2%%1 1/2°%1/8" x EACH SIDE,
‘ ] ( STORM BAR DEPTH' Alumn, CTION S3 - S3
| | g L] N ANGLE EA. SIDE SECTI S S
PTIONAL \ SCALE : 1/2" = 1"
’ Q . . _ 1 1/2%1 1/2%1/8"
| | @ ‘"3/ I " x STORM BAR DEPTH
@ @ ' , | ) Alum. ANGLE EA, SIDE
| D= ~ = :
or e ||| g
2* Min. | 2" Min. |[ ! | ,Nt— jre O &
| | I8 i WO e 13y O y
N
| X
| i At qm:tkﬁ@\\~@
N e-0 e (N e GIGIG ]
EXISTING 3
GLASS l N ,%\\—(2),{/14)(3/4“ S.M.S. FOR DESIGN
NS . LOAD UP TO 80.0 p.s.f. &
, FOR INSTALéﬁTI%S 0 TBE & N (3i14x3/4" M. FOR DESIGN
SEE SMEET 9 OF 14 | l \@ HEADERS Q). W), (OR\D), USE =~ 15l GREATER THAN 80.0 ps.f.
FOR Min. SEPARA (2)}14;\‘3/4 S.M.S. EA. SIDE FOR EACH SIDE.
T0 GLASS. SEE SHEET 9 OF 14 DESIGN LOADS UP TO 80.0 psf & ' o
FOR Min,  SEPARATION L (D#14x3/4" SMS. EA. SIDE FOR
f | |' GREATER DESIGN LOADS.
| &) \ B« SECTION _S3 s3
| 3 D @) v

SCALE : 1/2" = 1°

(BEYOND)

BUILD~-OUT TUBE

@ ® Eer

} BEYOND ‘ 2°%7"(Max.)x1/4" Cont.
(BEYOND) ‘ ALUMINUM ANGLE (CASE 1)
‘ 2" Min. \ ) i X WHEN APPLICABLE
(5) 3/8%x 2 1/4° POWER BOLTS © 4 “
2* Min.—H l OC. ATTYPE 1, 2, 3, & 4 STORM BAR 1 1/2%1 1/2"%1/4" x STORM
I l ’ ) LOGCATION AND (7) 3/8"¢x 2 1/4" POWER BAR DEPTH Alum. ANGLE W/
BOLTS s O:C: AT TYPE 5 STORM B4R } 1 (2)§14x3/4" SM.S. EA. SIDE EA.
BUILD—-OUT TUBE ) ' l ' I . LEG FOR DESIGN LOADS UP TO
" 80.0 psf & (3)f14x3/4" S.M.S.
(BEYOND) . l T 3 EA. SIDE EA. LEG FOR GREATER
] l l ‘ DESIGN LOADS.
53 s3
! ’ [ ’ | i ‘ SJ+ ‘ SJ‘ *53 —‘ o L9
] ’ | T
» B ] ‘
/ £ ’ 0oo 000 7§ e © 0 : .
/': | Y | 12.000" —12.000"——4.000" —\—4.000" ——4.000" —\—4.000" ——4.000" ——12.000"— 12.000
3 T T e ¥ T T ,—x: qﬁ_‘ l;f: 7 %3 % 4"%x6"x1/4" Cont.
J_ T L = T vy ALUMINUM TUBE
I 2 e (CASE I} ONLY)
L] ] 1] [}
- ¥ 2% 7(MAX.)x 1/4" CONT. ALUMINUM ANGLE W, ¥ Ny w M
) X 1/4*8 TAPCON /6VCHORS e 12° o.C. W/ / = j ~ 2%3"(Min.)x1,/4" Cont. ALUMINUM ANGLE _ELE_VAI[_QNA
CONCENTRATION OF (5) 3/8"#x2 1/4" POWER W/ CONCENTRATION OF (4)f14x1 1/2
BOLTS @ 4" O.C. ATTYPE 1, 2, 3, & 4 S.MS. © 1 1/2° 0.0, AT STORM BAR SCALE : 1/8" = 1°
STORM BAR LOCATION (SEE ELEVATION X), AND LOCATION, REST @ 12° O.C.
/ W/ CONCENTRATION OF (7) 3/8"#x 2 1/4"
POWER BOLTS © 4" O.C. AT TYPE 5 STORM
POURED CONCRETE
oR fo;ﬁ;ﬁpﬂo“ BAR LOCATIONS. (SEE ELEVATION X). fc’gxgﬁfng_rt_ oR \
IRED.
GONCRETE, BLOCK &% 6MAXE 1/4” CONT. ALUMINUM TUBE W/
1/4"8 TAPCON ANCHORS & 12" 0.C. W/ ) . .
CASE | CONCENTRATION OF (5) 3/8"0x 2 1/4° POWER F.B.C. (High Velocity Hurricane Zone)
CA SE ” BOLTS @ " a;. AT TYPE 1, .2,)3, & 4 jTORM
BAR LOCATION (SEE ELEVATION X), AND W, ,
FIXED STORM BAR CONNECTION AT BUILD-OUT CONCENTRATION OF (7) 3/5"0x 2 1/4" FOWER ASSA/60mm BERTHA ROLL—UP DRAWN BY
EOLTS @ 4" 0.C. AT TYPE 5 STORM BAR SV

INSTALLATIONS W/SHEET METAL SCREWS LocanoNs. (s LEATON X EUROTEC, INC. "
. SCALE : 1/4" = 1* / IIL I E c o INC. \ (ASSA MEMBER § 277) DATE

5511 NW 72nd AVE

NOTE: NN ’—\"QM WiAMI, FL. 33186
SINGLE SPAN SECTIONS AND DETAILS _SE_QUQLL:__V T > TILLIT TESTING & ENGINEERING COMPANY PHONE:(305)885-6553, FAX:(305)865-6554 05-153

P 6355 N.W. J6th. St, Ste. 305 — VIRGINIA GARDENS, Fl. 33166
ARE SIMILAR TO ABOVE SHOWN WITHOUT - ; . Phone : (JO5)B71~1530 . Fax : (306)871—1531
STORM BAR & HEADERS. )/ -~ %({' - ane (30508 EB—OOOG;);gr 4 REV, No DESCRIPTON DATE | PFEV. No DESCRIPTION BATE DRAWING Na
WALTER A TILLIT Jr., P. E 1 3

FLORIDA Lic. § 44167 2 y SHEET 6 OF 14




-
FE

MAXIMUM MULLION SPAN FOR THIS INSTALLATION

— 3 ?

I%I" ALUMINUM ANGLE

OloL
OO~

1 1/2%1 1/2%1/4°%  MULLION
DEPTH Alum. ANGLE (EACH SIDEJ]
W/ (2)5/8"# FOWER BOLTS W/
3 1/2" Min. EMBEDMENT TO
SLAB (Typ. TOP & BOTTOM)

QoL G

EXISTING —

POURED CONCRETE
REQUIRED

1 —
Min.

TAPCON ANCHORS @ 6" O.C.

—@

@@0‘?@ {oNLY FOR

3/4° S.M.S. FOR
@5& (ég)fuuﬂ

I% 3% J/8% 0'-3" (5061-T6 ALLOY)
Alum. ANGLE" FOR SINGLE SPAN HEADERS &

GLASS

3% 3% /8% 0'-6" (6061-T6 ALLOY)
Alum. ANGLE FOR MULTIPLE SPAN HEADERS

G/t OR R/4

W/ (1)1/2% THRU BOLT TO MULUDN THRU
SIOE RAIL AT SINGLE HEADER SPANS &
gz#l{sz‘a THRU BOLTS AT HULTIFLE HEADER

O/4 OR R/%

=4
@@ =@

FLOOR/CEILING MOUNTING :

v
T ROO-®

| (2)3/8"8 THRU BOLTS FOR UP TO
150 psf DESIGN LOAD & (3)3/8°
THRU BOLTS FOR GREATER LOADS

(Typ. TOP & BOTTOM)

BN

Ly~

POURED CONCRETE
REQUIRED

5" Min. Typ:

SECTION W-W (1), W/O HEADER

SECTION W-W (2) W/HEADER

SCALE

1/8% = 1*

O@O~@ — -

N

ELEVA TIONZC \

SCALE :

1/8° = 1*

POURED CONCRETE jr

REQUIRED ——\

®—

3%3" ALUMINUM ANGLE —1

®OO=W

\®OO-®

ALTERNATIVE: 1

WALL MOUNTING : SECTION W-W (3

SCALE : 1/8" = 1*

TAPCON ANCHORS @ 12°

®O=@

3% 3%3 /6% 0'-3" (6081-T6
ALLOY) Alum. ANGLE W/ (4)f14x
3/4" S.M.5. TO HEADER & 1/2"px
4 J/4' POWER BOLT ANCHOR TO

POURED CONCRETE

REQUIRED \ /

2°%4"%x1/4"x0’~8" Alum.
ANGLE CONNECTED TO WALL
W/ (3)3/8 2 1/4

POWER BOLT ANCHORS
S‘HOWN

(24

2°%MULLION'S DEPTHx1/8" Cont.
ALUMINUM TUBE W/ 2'x2°x1/8°x0"-2"
ALUMINUM ANGLE TO MULLION W/

\ Il
o b
I
\_// A— :)EEYDND
e e

00,0

2%4% 1 /4%0'~8" Alum. ANGLE W/
(4)1/4"¢ THRU BOLT TO HEADER &
(3)3/8"ex2 1/4* FOWER BOLTS TO
WALL,

USE 2°x7°x1/4" Alum. ANGLES FOR
CASES W/ 3" BUILD—-OUT TUBE,

WITH MAX. SPAN=

NOTE:

THIS INSTALLATION IS ONLY VALID FOR STORM BARS
‘~0%, HEADERS CON 12'-0" MAX.
SINGLE SFAN & 80 p.s.f. MAXIMUM DESIGN LOAD, OR
STORM BARS WITH MAX. SPAN = 6'-0", HEADERS WITH
15°~0" SINGLE 80 p.s.f. MAXIMUM DESIGN LOAD.

o)
— i

%X\_

ELEVATION/X1

SCALE : 1/8" = 1"

|
Min., PENETRATION.
cooe !
ELEVAT!ONA

18" = 1"

CALE
CALE

TYPICAL HEADER CONNECTION AT ENDS:

SECTION W-W

Qe
7// ,‘7 =

SEE NOTE 1—/

2°%2'%1/4%0'—6" Alum. ANGLE EA. SIDE W/
(2)3/8"9x2 1/4" POWER BOLTS TO WALL &
(2)3/8°¢ THRU BOLTS TO MULLION.

EXISTING ———— |
GLASS

2°%2"%1/4*%0'—6" Alum. ANGLE FA.
SIDE W/ (2)3/8°9x2 1/4" POWER
BOLTS TO WALL & (2)3/8"8 THRU

(IF14x3/4" SM.S. EA LEG.
(TOP/BOTTOM TYE.)

Z,

BOLTS TO MULLION.

POURED CONCRETE T

REQUIRED _\
727
g

1
|
|
f
!
|
Min. |
|
|
I
[
[
|

NO HEADER & STORM BAR ALLOWED.

IUST SPLIT ROLL UP MULLIONS &
TRACKS W/ FACE MOUNT.

\EOO-®

Rolofe

1%1%1/8%CONT. ALUM ANGLE
W/@14x1/2" SMS5. @ 12" O.C.

WALL MOUNTING : MULLION CONNECTION

AT TOP & BOTTOM : SECTION W-W (1)

SCALE :

1/8" =

ALTERNATIVE: 2
WALL MOUNTING : SECTION W-W(3)
SCALE : 1/8" = 1"
GIOIOL
(EXTENDED PASSED OPEMING) -
4 /2" 1/2" }
3.5 .
| o - HE
' ]
in E— N
L5 o ol |
N, |
NI
(2)2°%x4"%1/4"x0°-8" Alum. ANGLE |
W/ (4)1/4"8 THRU BOLT TO HEADER
& (3)3/8"x2 1/4" POWER BOLTS
TO WALL FACH ANGLE W/ 1 1/2°

NOTE_1:

EXISTING WALL MAY BE CONCRETE BLOCK FOR DESIGN LOADS UP TO
80.0 psf W/ 9'-0" Max. MULLION HEIGHT AND SHALL BE POURED
CONCRETE OR CONCRETE FILLED BLOCK FOR GREATER LOADS.

F.B.C. (High Velocity Hurricane Zone)

/ TILIECO me. \

TILLIT TESTING d‘ ENGINEERING COMPANY

2355 AW, J6th. ~ VIRGINIA GARDENS, Fl. 33168
Phone : (aas)an-y.uo Fax : (305)871—1531

EB-0006719
WALTER A TILLIT Jr., P. E.
FLORIDA Lic. # 44167

ASSA/EOmm BERTHA ROLL-UP DR’.‘,Z"’V'EY’
EUROTEC, INC. 7/12/05
(ASSA MEMBER §# 277) DATE
el
PHONE: (Jas)aag—séss, " FAX:(305)885~6554 05-153
e esenrron e T e ——{  DRAWING No

3

4

SHEET 7 OF 14




1/4%¢ LAG SCREW ©
EA. STUD

i ’ //—'\\\\
\
RO

I—opPTionAL

WOOD HEADER REQUIRED

pd

EXISTING GLASS

2'%4" WOOD STUDS
REQUIRED @ CORNER

/ (TYPICAL)

I ——— ]
——
- ——2\Min. 27\Min— "
\
I |
— ' ! U
EOIEO e N

1/42.

3) PLAN A (SECTION) ©
OR@ @0.‘?@

SCALE : 3/8" = 1*

T < . 1/4"8 LAG SCREWS @ 6"
PP | PSR 0.C. W/ 1 1/2" Min.
Y7 THREADED PENETRATION TO
Max. ax. EXISTING WOOD STUD.

24" STUDS

/|

/nan

i} 2%4" WooD STUDS
™ REQUIRED ©® CORNER
(TYPICAL)

-] 1/4"8 14G SCREWS @ 6” o.C.

: YW/ 1 1/2” Min. THREADED

PENETRATION TO EXISTING WOOD

STUD.

VARIES, SEE TABLE 1 ON P —— 2°x4" WOOD STUDS REQUIRED
SHEET 9 OF 14 FOR Min. / Y ©® CORNER (TYPICAL)
SEPARATION/GLASS. ,. 7’{4 o
. ax.
A = =
Pz i FEe £l -
g s
bl 4
i | & . @é
@ g1 |; ® &
s\ =1 L OR@
. W : T »
\\ S\ | \ : : 2"%2"%1/8" Cont. Alum. TUBE
f! - (6063—~T6 ALLOY)
\® « N H14°%3/4" SMS.
@M @ ® 6" 0.C.
2%4" CONT DR 1/4"8 LAG SCREWS @ 6" 0.C. W/ 1
STL | PLATE 1/2" Min. THREADED PENETRATION TO
REQUIRED :L EXISTING WOOD STUD.
1"%2"%1/8" Cont. Alum. ANGLE INSIDE MOUNT
(6053—7-5 ALLOY) SCALE : 3/8" = 1'
1/4"2 LAG SCREWS ©
12" 0.Cc. W/ 1 1/2" MIN.
THREADED PENETRATION @
MIDWIDTH OF PLATE
wooD STUD @ .
24" 0.C. MAX NOTES:
REQUIRED 1. I;VSTALLANDNS ARE ONLY VALID FOR BUILDINGS WITH DESIGN LOADS UP TO
5.0 paf.
WA L MOUNTING INSTA L LA TIO N 2. FOR NEW FRAME CONSTRUCTION: WOOD MEMBER Y0 BE SOUTHERN PiME Neo. 2
[ 2 = 7 7 _ ) L./ YA W/ SPECIFIC DENSITY OF 0.55 OR EQUA
S! ' c 0 3. MINIMUM PENETRATION OF LAG SCREWS INTO WOUD MEMBER TO BE 1 1/2"

SCALE: N.T.S.

#14x3/4" SMS.—_ || o 1
8 6" 0. C ‘Ng (789
=

1"%3%1/8" 2"%3"%1/8"
I'%3"%1/8" OR 3"x4"%1/8"
CONT. BUILD~OUT TUBE.

20 __ai\ _
EQ!EQ

SCALE : 3/8"

F.B.C. (High Velocity Humcane Zone)

/TiLlEC O me. \

il i

ASSA/60mm BERTHA ROLL—UP | PP er
EUROTEC, INC. 7/12/05

(ASSA MEMBER 4 277) Date
8511 NW 72nd AVE

e TILLIT TESTING & ENGINEERING COMPANY ) MAMI, FL. 33166 —
e eis . . o, o 303 - i ks 1 e PHONE:(305)885-6553, FAX:(305)885—6554 05-153
5 }] 7}/ - na ¢ (305)3 EE-—OOOG;; g (soejer1~ REV. No DESCRIPTION oarE | v, Na DESCRIPTION ATE DRAWING No
- WALTER A. TILLIT Jr., P. E. ! 2 SHEET 8 OF 14
/ FLORIDA Lic. # 44167 2 7




SLAT PERFORMANCE CHART
MAXIMUM _DESIGN PRESSURE RATING "W’ (p. s. t.)

AND CORRESPONDING MAXIMUM_ SLAT SPAN "L” FOR TYPE 1 SLAT

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD)

ST TYPEL  paxamum MINIMUM SEPARATION .
SLAT SPAN TO GLASS .
Max. }‘— L —]
DESIGN SINGLE & SINGLE & SINGLE &
LOAD MULTIPLE MULTIPLE MULTIPLE = - - = =]
"W* (p.s.f.) UNIT * UNIT *+* UNIT *e+ o o ~ 8
40.0 6'-5" 4 3/8" , 3 5/8" . ot —]
] » ” " ~ [
45.0 6'-2 4 3 1/2" . E - = El
50.0 5-11" 4 3 3/8" p— ] J
” I‘—— L ——I
55.0 5'-9" 4" 3 e = =] =
60.0 5'-7" 4" 3 1/4" . E = El
590 o ‘ A SINGLE SPAN / MULTIPLE SPAN -
70.0 5-4’ 4” 3 1/8" -
75.0 5'-2 4 3 1/8" - SPAN LAYOUT -
80.0 51" 4" 3" .
85.0 5-o0" 4 3 *  SPANS VALID FOR EVERY INSTALLATION LOCATED AT ANY ELEVATION OF .~
90.0 411" 4" 3 BUILDING MEASURED AT BOTTOM OF SHUTTER. P
MINIMUM SEPARATION TO GLASS FOR SINGLE AND MULTIPLE UNITS SHALL
95.0 4-10" 4" 3 BE MEASURED FROM BACK OF SLAT TO GLASS.
100.0 4g” e 3 **  MINIMUM SEPARATION TO GLASS FOR SHUTTERS INSTALLED WITHIN THE - ,
FIRST_30°—0”" ELEVATION OF BUILDING AND MAXIMUM SPAN. SEE TABLE 1
105.0 48" 4" 3" FOR Min. SEPARATION TO GLASS FOR SPANS LESS THAN THE Max. ALLOWED.,
0.0 prapr " 2 75 *x MINIMUM SEPARATION TO GLASS FOR SHUTTERS INSTALLED ABOVE 30'—0" -
: - 4 ELEVATION OF BUILDING, MEASURED AT BOTTOM OF SHUTTER. .
115.0 4'-6" 2 7/8" 2 7/8"
120.0 4'-5" 2 7/8" . 2 7/8" . Y
125.0 4'-5" 27/8 27/8" TABLE 1:
130.0 4'—4" 2 3/47 2 3/4"
135.0 43 2 3/4" - 2 3/4" SLAT SPAN (ft.) MINIMUM SEPARATION TO GLASS| ™
Pl
140.0 -3 2 3/4 2 .3/4 48" OR LESS . 25/8" -
145.0 4'-2" 2 3/4", 2 3/4" ”
150.0 4'-1” 2 3/4" 2 3/4" . > 48770 547 . 27/8".
155.0 =" 2 3/4" 2 3/4" - > 54" 10 74" . 4" .
160.0 0" 2 5/8" 2 5/8" . ‘ Y
” ” - 3 L
165.0 o 258 2578 > 74" 10 77 /¢
170.0 311" 2 5/8" . 2 5/8" .
175.0 3'—11" 2 5/8" , 2 5/8" / 5 (9 OQ B
180.0 311" 2 5/8" . 2 5/8" Oos 0
185.0 310" 2 5/8" 2 5/8"- ,
190.0 3'-10" 2 5/8" 2 5/8" 7 —
. g 1/2" 2 12" <
195.9 i 212 . 4 F.B.C. (High Ve/ocn‘y Hurr/ccme Zone)

ASSA/60mm BERTHA ROLL—UP | ommer
EUROTEC, INC. 7/12/05
I L E c o (ASSA MEMBER § 277) DATE
INC. 5511 NW 72nd AVE
MAMI, FL. 33166 :
ot e TG X i GINEERING COMPANY PHONE:(305)885—6553, FAX:(305)885—-6554 05-153
Phona : (Jospz_ﬁg;zosi-‘;; 9 (305)871-1531 ™ rre e rarm e e DRAWING No
WALTER A, TILLIT Jr, P. E. 1 3
FLORIDA Lic. 4 44167 2 - SHEET 9 OF 14




“L" FOR -

v

AND_CORRESPONDING MAXIMUM SPAN

A GIVEN TYPE OF STORM BAR AND STORM_ BAR SPACING. .

MAXIMUM _DESIGN PRESSURE RATING "W* (p. s. 1.)’

STORM_BAR LOADING CHART -
(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD) -

MAX. SPAN FOR STORM BARS W/REGULAR CONCRETE ANCHORS

i
ol |2 =
SIS vy ooy pfrppfoprpafepaafrpeppeprppafepeje|frf
.TT._/,E
©
! TR e 1B 3 un»un,a,uunauvuu»
N 2 2 -~ R OR|s ~ v~ 2 |=s
CE INITIRNIFER S RN LSRN obdyMdNSERIER G |oNKNo
o Il U AT O A O T L R A A AU AU A A A U A U A U A R U R A A RN
I N|[ololololb(b|o|b|bio ¥ [ (¥ | ¢ (Y[ [ [¥|¥(¥[™ (MM nlk k(" (n
73}
ﬂb/ R N i b % s R uOu. - .:./ R A U e wlucluo
[ LI L N E O Dl O L C O E N L = L O M - ~ o
N H D diduidaiaiacd bk et g A e e o o
MIm.4.8.5.7,76.6,6,6,6.55.55555.4.444444444444333
QX
[ x
w2
~ - . v .
“xm4uu1».un»,u[n1"u.o"."u...O..my»n.oﬂ.uJ"un».lmugﬂuu?»uunn
T © |~ n o - o ~ N [~ o |- © o [0 |+ [¥
2N N B2 A R A R N A A AR R AR A A O AR A N AR A A A SR A e AR A
“Ilele NN Do loivijolowdbiblibdiiofov v vv v rlv
*
N RO O NN I I R N I Bty - o~ - »0 “] T S A N - e
T = It % [z lx |3 4 v |2 |z 2 jx |r |= = 2 |=  |= £ ] CIE
IR R EEEEREENER RS R TR
Yo o fU 1ol (LD [0 [l {ul {0 |ob b Lo ol (b (o o or o for or [ob for o8 b8 o o o o o e Lr )
JW999.888777766666666555555555555
" ©
l:.u.uuu B
<
o .
0._1_:_u_____________________________
~lo|b|b
o
R . ) . NN O FI N N . N ERE N ) N . . e . 2 la- {2~
6uuuunu0unuuu,n10uuunnuuunuuuuu4I.l¢l
FIO IV I N|IOI=-{0 Ot M~ Ol |0 (0 NOJn 0 ||| ([N~ 10 0 |~~~
m.._ FRLINN 1% I T Y O O O O A A O B B A T T Y L R O O O O R
. N AT ECRELRELER R R N R R R R R R N N R N N LT L T N N e L L S S TN PV F N
O I
ubzu,n Sl e e e e e e s de e e e R L N R e A A B O M
umOH73”853#”986542101199876654#?322
ﬁ G IRL) (. I L 0 T T T I T I T O T A T G A A IO RIER S J
~Ig |- o |®|ojp|bib|vviviviTTIFIFIF|FIF MWD W[ W Ry g [y
m m:.46 n
x
B IS
" N
2m4,¢, . N O N TR A TN IS (RO B IO I
w1 2 R R K- R R L ] LI L 2 |2 ls =
3 QO fx = x= {= z = {=z (= |= n s 2 oz =z la2 e Ix s e |~ O =2 |2 |on N T
R EREEERE R RER R R EREERRRR D
"IN N o |o|ojo(b|b|b|blb|b (¥ ||| (v (¥ |¥|v|v v m|mmmEmmmi™m
* - :
Y L IS A A A NP SR I I LN P N N R N D RS R D Tt A A I D BN SR R P
ol (== I3 = |2 s = 2 12l e [z {2 |= 2 f® |3 0= e J3 13 12 [z % =2 [z {3 (%
SRk i i R R A kg
Ty Bl (PP T s RERENERENER RN N N RS
U88877766,666%.5555555,4_1,444444444444
HD/n, B sl Y] -1 :n,uof N N N b R R N N IS O
5 T B I i L L L L 2 |ja {3 |3 |3 2 |2 |=
SITINIY |~ ¥ nlol¥|n|~~~omNlolo [N |min NS50S0 %55
o ft |t [sh o L T T L T T L ||
e LI R A A IR R A e B e LW O T N U F W N N 1N IR N R W N P VI VI O N N Y
©
. P T T R E N R P T T TR S T T R A A O e S ER BRSS IR vl Tt s e [
6u0unu0»uuuuu10uuuauuu»nuuuu.l100u
21530186431011987554432210011119
< P30 RN I I R I U U O R DI O P R O BN IR IR IR | S U A AU U U A D O Y ST T T T R IR A
N C L R R R R R N R B N o N L LN Lo o L o L I S O N W N PN P N
n
ol 1T
- GSunuu»nu1uu»unnnu10unuununnununun
R DY Do ]joiti~I~jo 0oy min|- |0 |~|~[ofo|N[Non v |¥v ™™o |oy|~]~
LA KR 1SS AR AR AR ENE NN A RE RSN S R T O T O A A A 0 O AV O
M1m.66655554444444443333333333333JJJ
S X ~
. I
5s
~ A 1. )
EX = p4u u.lu £ 2 - |2 z 8 3 3 n’u 2 x| 2 2 2 2 3 2 u¢lu0u 2 ] u'u N
d: IS =D N~ DO YN[ |~ ]3| N D% |M N[~ |00 |~ |= oo ({0 [N N o [b (o
N 5 _nlv._ JRE N Y T O T G O e O O O Y 1 1 I O T O T O I A IO IR Y | RN NN
. IN|Jo oo lo bbb [L|LLIYTIvIT|FIFIFIFIFIE(F|E [ [ [y W
)
*
anunn-lununMOMnnuu»10nunnnunuunuu1
JIN[omio -l iIN|v|nNjOI= oo (n([min|o|w=|n|o N o in (v ™ My (-~ o |~
Lo RO TR I T T I o A U O A B S Y IR A O T O T U 0 I O A O R | Ol L
<77776666665555555444444444444443
-~ [
= b B!
824 |*
SHde I QI|oiviolvioin|oivIRiv| (v ioiv]olnlio|n
TEYL [S]9[8/818]8RR|R|8|B| 8| SIS IT|Z VYB3 1T ¥ 818 818IRIRIFI8IT T
o
~

F.B.C. (High Velocity Hurricane Zone)

X+
.. ol ™
a_lg \ 2 ey
3|8 T2
D N < _ = o
Sl NG T B
g ~ SERR”
&
¥
a 3
2
_ =
- 5
~ 3
Don . o |
X
I
< ||=R¥8
T o I
~ lRM”M HEIR]
& |RENE [
L EMWRJ,
[N amN .8 |4
3o |3
EJ539
EINI°R
W Q
S5 g
N gl
g
Q
~r
% .
< B

Phona : (305)871-1830 . Fan : (305)871-1531
£EB-0006719
WALTER A, TILLIT Jr., P. E.
FLORIDA Lic. # 44167

/ TILIEC O e, \
TILLIT TESTING & ENGINEERING COMPANY

6355 N.W. J6th. 5L, Ste. 303 - VIRGINIA GARDENS, F1. 33166

STORM BAR SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED.

*




STORM BAR LOADING CHART

s

MAXIMUM DESIGN PRESSURE RATING “W” (p. s. f.) AND CORRESPONDING MAXIMUM SPAN "L" FOR

A GIVEN TYPE OF STORM BAR 'AND STORM BAR SPACING. /

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD)”
MAX. SPAN FOR STORM BARS W/REGULAR CONCRETE ANCHORS

W L T, @ e @

DESIGN
LOAD ¥ STORM BAR SPACING STORM BAR SPACING

W (p.s.f.) - - —r— -

< 3- 044705, ‘Je'0 65 30" FT04| 4105 |5 7106 |6 1065

40 or Less| 11°-10 110" | 10°-5". 9'-9" 141" | 131" 12'-5" 11’10y 11-7"
45 11'-6" 10'-8" .| 10°-1* 9'-3" 13-8" | 12-9" | 12'-0” 11— 11’-3"
50 11'-2" 10'-5" 9'-10". 8'-10" 13°~4* 12'-5" 11'-9” 11°-2"1 11'-0"
55 10~ 10-2",| 9-7°. - 13'-0". 12-1" | 11-5" 10'-11" -
60 10-8"- 1 g'-11".| 9'-2" . - 12'-g" 11'-10"} 11-2" 10°-8* -
65 10'-6" -1 9'-9” 8-10", - 12°-6" 117" | 11'-0" 10°-6* -
70 10'-4" 9'-6" 8'-6" - - 12'-37 11-5"1 109" 10°—4* -
75 10'-1" 9'-2" .| 8&-2*. - 12'-0" 112" { 10-7" 10°~1" -
80 g'-11".| &-11* | 7'-11". - 11'-10"1 11'-0* | 10-5* 9'-11* -
85 g'-10".| 8-7".| 7-8° - 11°-8" 10'-10" 10°-3" 9'-10* -
90 9'-8" g-4" .1 7-6" - 11°-6" 10-8" { 10°-1" 9’-8" -
95 9'-5" -2 | 7-3" - 114" 10-7* | 10"-0" 9'-5" -
100 9'=2" .| 7-11"-| 7-1” - 11°-2* 10'-5" t 9'-10" 9'-2* -
105 8-11 7'-g" - | 6'-11" - 11°-1* 10'-4" | 9'-9” 8~11" -
110 8-9" 7-7" - | 6-9" - 10°-11*| 10-2"} g'-7" 8-g" -
115 8-7* 7’-5" - | 6'-8" - 10°-10"} 101" | 9-4" 8-7" _
120 8-4" 7-3" .| 6-6" - 10-8" g-11"| 9-2" 8-4" Z
125 8-2" 7’-1". 6'-4" - 107" | 9-10" | 9-0” 8-2" -
130 8-1" 7'-0" 6'-3", - 10°-6" 99" g-10" | &-0" -
135 7-11" .} 6-10" 6'—1" — 10'-5" 9'-8" 88" 7-11" -
140 7-9" /| e-9" .| &-0" - ro—4” | 96" | &6 | 7-¢° =
145 S 7 7" 5—11" — 10'-2" g9'-4" 8'—4" 7'=-7" -
150 > 5" 6'-6" | 5-10" - 10°-17 9-2" 8-2" 7'-6" -
155 7'-4" 6'-5* .| 5-8* - 100" 9'-0" 81" 7'~4" -
160 73" 6—3". 5—_7" - 9-11" 8'-10" | 7-11" 7'-3" -
165 7=-2" 6'-2" - | 5'-g" - 9=711" &§-9" 7—10" 7=2" -
170 7-0". | -1 | 5-5* - 9'-10" | 8-7" 7-8" 7-0" -
175 6—11" | 6-0°, 